TBREMADRAAR SHAEI10ARBRE
TR £ =i 2 ES 3 1TIRE £ =] E:] S =
FEAHT 1,528 758 770 651 SEFEEET 595 307 288 337
JUHT 2376 | 1,168 | 1,208 | 1,035 BT 258 123 135 100
FUZERT 616 2717 339 305 = AR I ET 2400 | 1175| 1225| 1014
BRAHET 1,821 897 924 884 & |/KEHET 165 80 85 66
DIFT B 423 210 213 225 B |SREET 314 140 174 135
B |5 RET 1,878 987 891 917 i |RET 1,460 733 727 632
#H | EARET 1,187 604 583 535 B g5 706 351 355 321
# (= mEr 259 138 121 131 S s BT 287 133 154 117
B (m=mr 810 395 415 389 FeHET 835 376 459 429
A EHET 379 158 221 179 NG 513 253 260 251
REEE 154 73 81 65 B LR 2940 | 1429 | 1511 1,222
TRET 86 35 51 59 E=3%:) 693 356 337 363
BXAES 123 51 72 62 4 [ ET 302 143 159 131
ekl 511 199 312 239 LSRR T 1,287 628 659 597
ES:) 1,386 660 726 650 E Faor FLHET 285 135 150 112
i | A SAEET 3350 | 1637 | 1,713 | 1,493 X |\LERET 187 91 96 82
i |hRx 3,861 1,869 | 1,992 | 1,741 R EHE 1,515 707 808 643
| 5 AT 1,025 452 573 473 EHET 1,460 716 744 594
B |y 3176 | 1552 | 1,624 | 1417 ILAHET 551 254 297 236
H ST 333 165 168 157 —ARRX 482 222 260 206
HACHTET 311 156 155 140 IEHET 538 257 281 218
A4 _E#T 136 Al 65 56 PN g2k TG ) 194 140 54 131
B | m o1 ET 1,657 825 832 800 BEEESBAS 890 440 450 295
g HANETEER 122 56 66 58 £ AT 3294 | 1666 | 1628 | 1525
X [BHRKXEHE 577 279 298 278 7 #THET 339 185 154 234
H X ARET 1,387 700 687 607 + EHFTET 169 82 87 75
FiS=1:l) 555 267 288 219 i‘i T 2,306 | 1,097 | 1,209 959
0 gk FH T 838 365 473 360 X |AiTEET 273 116 157 131
EIEE 105 41 64 44 75 T 883 432 451 373
f( iiiladiin) 240 108 132 106 E 1)) 939 454 485 401
B MEMNEERER 3297 | 1,581 1,716 | 1,304 HESUHET 1,289 624 665 405
i [FREAEHRRK | 2588 | 1286 | 1,302 921 T ErHET 491 231 260 238
E |iENERER 1,132 548 584 390 =EfT 277 133 144 111
BT 1,366 638 728 575 BEEEAS 162 81 81 73
EAHHET 2128 | 1,036 | 1,092 928
2 |HHEHET 1,510 753 757 698 KAMREATHRIFREARGSHEAHLHNT, AAFE(IC
E | HEMt 375 182 193 160 EENHYET,
M |47 A% BT 392 191 201 159
B |y 48 24 24 24
R FHET 438 184 254 248
WX 271 124 147 117




